
WWW.WRRP.COM.TW

2020

1209

Kawasaki Z125

一、注意事項

二、零件列表

1
2

T1

T10

3

T7/T8

T9

Z-LA

4
5

6

9

11

6

Y-Lwb

13
Z125變速器套筒

12

可折腳踏(R)

10

8

AIR-LD

7
Z125-LC

Z125-T9-L

12

T1

T10

T7/T8

3

Z-RA

Z-Rwc
4

6

Z125-RC

Z125-T9-R

AIR-RD

9

10

可折腳踏(R)
8

5
7

請上螺絲膠10 Z-RT8

右腳踏後移零件表
品名編號 數量

防倒球1 1

M8 X 50 白鐵內六角螺絲2 1

M6 X 60 白鐵內六角螺絲3 1

M8 魚眼(內R)4 1

M6 尼帽5 1

M8 X 15 白鐵內六角螺絲6 2

M6 X 65 白鐵內六角螺絲8 1

M6 X 15 白鐵內六角螺絲9 2

M6 X 12 皿頭內六角螺絲10 1

M6螺帽7 1

請上螺絲膠10 Z-LT8

左腳踏後移零件表
品名編號 數量

防倒球1 1

M8 X 60 白鐵內六角螺絲2 1

M6 X 20 白鐵內六角螺絲3 1

601 白鐵華斯4 2

M6 白鐵魚眼(外R)5 1

M6 尼帽6 2

M8 X 25 白鐵內六角螺絲7 2

M6 X 15 白鐵內六角螺絲8 2

M6 皿頭內六角螺絲10 1

M8 螺帽L11 1

M6 X 40 白鐵內六角螺絲12 1

M6 白鐵魚眼(L)13 1

M6 螺帽R9 1


